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1- In the right angled triangle, the square of the length of the
hypotenuse equals
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The number of seconds in one minute equals
12
24

60
120
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If y=Inx,then
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If the volume of the solid resulted s Jalall J==idl 2
from the revolution of the shaded 093 (0 L) gl @ Gl 13

region and the straight lines Allatf fata it
x =—1and x =k acomplete Oloeadl yg2me Jg> alsn 339

revolution about the x-axis equals
g (el® — e72) cube unit, find the

value of k.




If f(x) = pln(x® —2x+ 1) then
£70) = ...
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Find the volume of the solid resulted 01395 (o L) @esnell @ o9l
from the revolution of the region

i
bounded by ¥ =x? and the = o et b B ausdl fdlacd

straightliney = 2x  acomplete | Jo=@hels8)93 (¥ = o priiedly
revolution about x-axis.




If f(x) = (cosx)®°s*
then F'(0) = ...
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Iff:[i,e]—>Rand f(x)=x-Inx ﬁ<—[—"’a ‘i]:;otsm
e -1

, find the increasing and the

decreasing intervals, then find the -FJJE — = () 20l

absolute maxima and the absolute

minima of the function.
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If the side length of an equilateral
triangle increases at the rate 33

cm/sec ,then the rate of change of
its perimeter at this moment equals
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Using one of the integration
methods, Find

Az 9l Juleal (3ylo usl sty
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then the slope of the tangent to the
curve at x = e equals
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Using one of the integration
methods, Find [ Inx dx
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If f(x)=In(sinx) - In(cosx) ,
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If f(x) = e=°*
- lim (f (x)—f (g})
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fﬂmn | sinx | dx =

10
10 =




Using one of the integration
methods, Find

J’g(ln x)dx




In the opposite figure , Find Jlatl g2l
L (FO2f () dx L
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Find the equation of the tangent
and the equation of the normal to

the curve:
2 +lny.Inx = x? + yatthe
point whose x coordinate = 1
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In the opposite figure, find the s Jolat) Js=2dl p
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area for the rectangle ABCD )
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